
NOTE:

This brochure contains IMPORTANT safty info.  Please read
and keep for future reference.

ITEM NO.CHM0014



Weight Limitation

250LBS

A*1

B*1

C*1

G*1

D*1

H*1

Right Arm Left Arm
Backrest

Baseplate

Front rail Metal bar

-1- -2-

J*2 K*2

Back LegsFront Legs

K

E*1

F*1

Backrest cover Backrest filler

seat cover seat filler

N O*1*1



L*2

M6*18 M4*25

①*36 ②*4

M6*18 M4*25

①*1 ②*1

Be sure to check all packing material carefully for

small parts.which may have come loose inside the

carton during shipment.

B

A

①

①

I

I

I*2

STEP1:Use bolt , allen key  to Attach the metal bracket 
  to inside of armrest (A/B). Make sure the holes aligned 
properly then fasten all bolts to secure.

① ③
I

ASSEMBLY 
INSTRUCTIONS

-3- -4-

③

③

③

M6

M*2

*1 4 *1



A

B

①
①

③

A

B

C

STEP2: With help of adult partner, carefully align 
the male and female metal bracket then push the 
backrest(C) all the way down in order to secure it to 
inside of armrest A/B.

STEP3:Use bolt , allen key , bracket  to connect 

armrest A/B with backrest C. Please don't fasten any bolt 
until end of step 5.

① ③

-5- -6-

M

M

C



L

①

③

H

③

①

A

B

C

G

-7- -8-

A B

C

STEP4:Use bolt    to connect metal bar H with armrest A/
B, make sure the metal bar set leveled . Please don't fasten
any bolt until end of step5 

①
STEP5:Use bolt , allen key , bracket L  to connect 
armrest A/B with front rail G, make sure armrest A/B,
backrest C and front rail G aligned        fasten all bolts.

① ③

to secure.
 then



①

③

B

A

G

C

J

K

STEP6:Use bolt    , allen key    to attach legs     to  
the armrest A/B, fasten bolts to secure.

① ③

bottom of

J STEP7:Use bolt    , allen key    to attach legs     to  
the armrest A/B, fasten bolts to secure.

① ③

bottom of

K

-9- -10-

①

③

K



②

②

A

B

C

G

A

B

C

G

STEP8:Use philips head screwdriver    and screw    to  
attach seat panel D to front rail G and backrest C, fasten 

②

screws to secure.

-11- -12-

D

D

4

 

 

STEP 9:Place insrert seat filler O into cover N and pull the zipper
completely,then place all filled back cushion N & O on the seat

 

 panel D.Make sure the gaps are completely covered by the seat

N

④

cushion.

O



A

B

C

G

-13- -14-

Assembly completed

Iron the fabric cover to stretch the wrinkles
with steam iron while neccessary.  Please
wait 48 hours for the compressed foam or
polyester pillow filler to spring back after
unbox all components.   Hair dryer blow or
hand slap on cushions will speed up the
process.

E

F

STEP 10: Insrert backrest filler F into cover E and pull the 
zipper completely,then place all filled back cushion E & F
on front of back frame C.


	1
	图纸和视图
	模型


	2
	图纸和视图
	模型


	3
	图纸和视图
	模型


	4
	图纸和视图
	模型


	5
	图纸和视图
	模型


	6
	图纸和视图
	模型


	7
	图纸和视图
	模型


	8
	图纸和视图
	模型



